C:# Rewriting Expressions Name:

Rewrite each expression in its smplest form, ANSWers
Y (Vae1s)-(Q+9) .
2.
2 (YW -20) - (Y +13) N
.
) (4/10P'8)-(10/50P'3) 5.
6.
Y (Ve r19) + (YT +14) ,
8.
) -(4/24Y-7)+(3/6Y+12) 9
10.
6)

(TN -11) - (SN +7)

D (YF-13)- (%E-3)

¥ (YR+9)-(YRr-18)

? -(:3/92+17)+(32/362+8)

10) < 14720H -4) +( 3/10H +10)
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ﬂh Rewriting Expressions

Name:

Answer Key

Rewrite each expression in its simplest form.
) 4 1
(7/7Q+18)-(/;Q+9)
4 1
/-Q+18-7/5Q-9

2 (YW -20) - (Y +13)
YW -20- 7w - 13
Y (VoP-8)- (VP 3)
A P-8-" VP +3
K -( 5/6T +19) +(6/12T +14)
A T-19+ YT+ 14
K -(4/24Y -7) +(3/6Y +12)
-4724Y +7+ 12/24Y +12
O (Vv -11)-(Tv +7)
SNv+11- Yy -7
D (YE-13) - (- 3)
2V F+13- 77y F +3
¥ (YR+9)-(YRr-18)
YuoR-9- VeR + 18
Y (Yz+17)+ Yoz +8)
-12/362 -17+ 32/362 +8
10)

-( 14/20H -4) +(3/10H +10)

14 6
- /20H+4+ /20H+1O

Answers
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